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Class Test — Algebra 3
Attempt all Questions
QL. (a)  Solve the following inequality and show the solution on the number line,
x—-1>2x~3)-1, x €N.
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(b) (i) Find the solution set of E of —4 > i;—‘ x€Z Sm (0,24¢S)
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(ii) Find the solution st of F of x = x€Z Sm (0,20

(iii) Graph the solution sets of E and F on the same number line. Sa- (¢, 2.0,S)

(iv) Find the solution set of E NF and E UF, .
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(¢)  Find the set of all real values of x for which .2::355_2.
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Q2 (a) Solve2lx+4| < |x+5|
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(b) h;33=ﬂnhmem§mdmmmcﬁmcﬁmsf(x)=l3x+5|and
— 1). Using your graph, find the values of x € R for which: S
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